mathrm d'N
mathrm d p. mathrm d lambda

12

T

T

(@))

mathrm d N / mathrm d p

Ratio to CMS
[N

0.5

x13900 GeV pp Jets
_l T I T I T I T I T | T I T I T |_
B LHA )\3_5 (CMS jet substructure) 7
= CMS ]
| --O-- Herwig++ 2.7.1 default |
| --3-- Herwig 7.2.1 default _
— —&— Pythia 8.308 default —
— - ¥-- Pythia 8.308 vincia-default 1
e ¢ Sherpa 1.4.5 default |
| Y ]
C e :
[ kY _
— “‘.‘..‘ —
n . ~
B g |
_| | ’ ....................... |_
= - o mu|  wm  lew o s =
| " 1 " 1 " 1 " 1 " | " 1 1 |
0 0.5 1

LHA

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


